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QUESTION 1

Which three advantages of using the M5 generation of HyperFlex servers over the M4 generation are valid? (Choose
three)

A. Support for Cisco VICs

B. Multiple GPUs

C. M.2 SATA drive support for faster disk 1/O
D. DDR3 memory

E. Microsoft Hyper-V support

F. NVMe support

Correct Answer: CEF

QUESTION 2

Which two features enable RAID cards striping as well as mirroring and parity? (Choose two.)
A. Integration with Cisco Intersight for a cloud-based storage management solution.

B. No load on the system resources, drives seem as one drive to the operating system

C. On RAID card failure, the RAID onboard concurrent cache assists rebuild cache.

D. Hot replacement of drives available, depending on configuration

E. Distributed drives across disparate systems can be in RAID together.

Correct Answer: BD

QUESTION 3

Which three features do Managed Deployments provide? (Choose three.)

A. Great tor managing large deployments, scalability, and oversight of the UCS servers.

B. Consistent deployment by replicating working configurations from development labs to the production deployment
C. High availability of the management system and connectivity when using 2 Cisco Fabric Interconnects

D. Individual configuration of each redundant fabric or global configuration.
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E. Increased operating overhead, raising Operating Expenses (OpEXx)
F. Decentralized yet complex management of an entire UCS domain.

Correct Answer: ACD

QUESTION 4

HyperFlex compute nodes contribute what percentage of the overall disk storage capacity?
A. 5%

B. 20%

C. 0%

D. 10%

Correct Answer: C

QUESTION 5

What is the maximum number of cores supported in the Cisco UCS M5 server?
A. 28

B. 22

C.12

D.8

Correct Answer: A

QUESTION 6

With which three components must every HyperFlex cluster be equipped with in regard to disks? (Choose three.)
A. NVMe drives

B. there are no specific requirements

C. same type of cache drives

D. same type and size of capacity of drives

E. same number of capacity drives
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F. SAS drives

Correct Answer: CDE

QUESTION 7

Which uses for the system drive in an HX node are valid? (Choose two.)
A. Migration

B. Saving and restoring program state

C. Virtual machine store

D. Garbage collection

E. Write Cache

Correct Answer: BD

QUESTION 8

Which two ways does Cisco HyperFlex upgrade the traditional RAID? (Choose two.)

A. HyperFlex enables stretched RAID arrays spanning multiple geographic sites.

B. Hardware replacement initiates self-healing with minimal impact

C. Limiting the number of drives locally, which are not a part of the shared datastore.

D. Distributing data locally, not just across the hosts in HyperFlex cluster

E. Eliminating the need for additional hardware cards, while maintaining high performance.

Correct Answer: BE

QUESTION 9

How many vCPUs does the HXDP controller VM require?
A. 8

B.6

C.2
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D.4

Correct Answer: A

QUESTION 10

Which two components are automatically configured from the information provided to the HyperFlex installer? (Choose
two )

A. the network

B. operating system deployment preparation
C. controller VM configuration

D. application dependencies

E. server firmware policy

Correct Answer: AC
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